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Question 1

Question Type: MultipleChoice

The LTE system requires an uplink synchronization system. Uplink synchronization is mainly to eliminate interference between different
users in a cell.

Options:

A- True

B- False

Answer:

Question 2

Question Type: MultipleChoice




Single-site verification refers to the self-inspection and verification of the equipment functions and coverage capabilities of a single-site
after the eNB hardware installation and debugging are completed.

Options:

A- True

B- False

Answer:

A

Question 3

Question Type: MultipleChoice

Which of the following is not included in the site survey preparation tool?

Options:




A- Digital camera or mobile phone with strong camera function
B- GPS satellite receiver

C- compass

D- ruler

E- hoe

Answer:

Question 4

Question Type: MultipleChoice

Regarding the antennas used for LTE high-speed rail coverage, what are the errors in the following descriptions? (multiple choice)

Options:

A- High gain

B- Narrow lobe



C- Wide lobe

D- Low gain

Answer:

C,D

Question 5

Question Type: MultipleChoice

During the X2 handover in the LTE system, if re-establishment occurs, which cells may be re-established? (Multiple choice)

Options:

A- Source area
B- ltemTarget area
C- Third-party community

D- Other cells in the source base station



Answer:

A B, D

Question 6

Question Type: MultipleChoice

LTE neighbors are divided into same-frequency neighboring cells, different-frequency neighboring cells, different system neighboring
cells, and blacklist neighboring cells.

Options:

A- True
B- False

Answer:

A

Question 7




Question Type: MultipleChoice

The intermodulation interference of the system is usually mainly caused by second-order and third-order intermodulation, and the
frequency of the second-order intermodulation product is F=2f1f2 or 2f2f1.

Options:

A- True

B- False

Answer:

B

Question 8

Question Type: MultipleChoice

The LTE system can only switch based on frequency priority.



Options:

A-True

B- False

Answer:

Question 9

Question Type: MultipleChoice

Which of the following factors affect the theoretical peak of LTE cells? (multiple choice)

Options:

A- Communitybandwidth
B- Modulation(MCS)
C- MIMOmodel



D- UEability

Answer:

A B C

Question 10

Question Type: MultipleChoice

Before the cluster optimization test, the target area must be divided into clusters. Which of the following statements are correct? (Multiple
choice)

Options:

A- The cluster division should span different areas of the test (planning) full coverage business
B- Make full use of the terrain (mountains and rivers)
C- Refer to the existing cluster division for network engineering maintenance

D- When dividing the cluster, the drive test in each cluster can be completed in one day, usually about 6 hours for one drive test



Answer:

B, C

Question 11

Question Type: MultipleChoice

Which of the following factors are the base station receiver sensitivity related to? (multiple choice)

Options:

A- channelbandwidth
B- Cell radius
C- Base station noise figure

D- untieThreshold

Answer:

A C,D
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